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[ General Knowledge }

. 2023 HRA-MePT 8T MNP 98 vl Fafaf@a d d

g zrev A smfora # s A2
The 2023 India-Sri Lanka Defense Symposium cum
Exhibition was held in which of the following cities?

Tﬁcﬁc_vﬁ New Delhi (b) PIdal Colombo
aﬂ_scchennai (d) ST Jaffna
fFafafaa & @ F1-0 Fa § gusd Jaa ddt ufdy §

e arel A1 @ S U3t ure $t M weridal
udf gami @ Fead! 82

Which of the following is the second longest west flowing
river in Kerala that rises in the Eastern slopes of Anamalai
hills of the Western Ghats?

iR Chaliyar (b) UUT Pampa
URAR Periyar (d) YRJYST Bharathapuzha
o 53 s - qwe ok fawell & agar F=u A

ST Tl 82

Which of the following is known as 'thunderstorm clouds'?
AIRCCI I1GA Nimbo- (b)) FHHA-KcH Tad

stratus clouds Cumulo-stratus clouds
FHYA-HTT TEA cumulo- (d) RRY - FTIAH T1Ed Cirro-

nimbus clouds cumulus clouds

yRa & Fafafaa & F few e & fdta shao-
AT TATEPRI B MaAS I5P AT B 7S 82
In which among the following cities in India the 2nd G20-
Chief Scientific Advisers' Roundtable meet has been

organized?
W Bengaluru (b) e TR Gandhinagar
33 Y Indore (d) 'Tsfﬁ('_tﬁ New Delhi

AP U Ul (@) vEye & Sfavfa wufd
(TguEH) '3ed U QAT (THErs) W Siig afgd 25
3[R, 2023 &I & ) & TP =R
WUgA TS|

National Pension System (NPS) assets under management
(AUM) ‘including the corpus on Atal Pension Yojana (APY)
'hit a milestone of (in X) on August 25,
2023.

10 TR R S lakh crore
30 IR B S lakh crore

TR ARASH $T 9 TST sqrarydt {5y 78 wR uran
AT 8?
The largest volcano in our solar system is found on which
planet?

(b) 20 ARG R S lakh crore
(d) 40 TG R S lakh crore

9l Earth (b) TS U8 Mars
Y¢h Venus (d) M U8 Saturn
fay ara 3w RSy feaw wde o wamn wrar @:

World Day against Child Labour is observed each year on:
12 9 /lune (b) 109 /June
15 9[- /lune (d) 199 /June
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¥ 1951 ¥ YR= P T3 ygelt Uaqdia AT fhw Aisa
1R 3muTRa A2

The First Five-year plan launched in 1951 was based on
which model?

BRIS-SIMR AT Harrod- (b) fe<ita TISHT AEA Second
Domar Model Plan Model

mefd ﬂV'IGFTGadgiI (d) FASd Keynesian
Model Model

4 Rra T, 1% A7 TeIgR @) R gia A |
widit &t A2
Which Mughal Empire executed the ninth sikh guru, Guru
Teg Bahadur?

Trl%%ﬁ?]ahangir (b) TMESTET Shah Jahan
WAurangzeb (d) dTER Babur

YRASR & 9 Ul R &1 Ugen "agad
awmgrmﬁq-uﬂmﬁa?mﬂﬁmﬁm
IR

The first of its kind joint Exercise Cyclone-I, being held in the
deserts of Rajasthan, is Between India and:

Tgad 3RS IHRTAUAE  (b) ¥ Russia

SORTS Israel (d) T Egypt

YRd F Gy § g TWHR $ [@uRm o1 fFa
31 3 TN far T @2

The concept of federal government in the Constitution of
India is borrowed from which country?

SRIBT USA (b) P-ISI Canada
JTIRTAS Ireland (d) 13I§3UK
AR FITRITT BSIRH BT YBITAT Hal (A 82

Where is the headquarters of the International Boxing
Federation located?

TR Malaysia (b) SMAR®T Usa
mSwitzerland (d) S Japan

& ¥ @19 a1 midard) srfarawn @Y e giard
GIECIE G

Which of the following is not a basic feature of Gandhian
economy?

DHelpd IdTe (b) STAMHRET Self-
Centralized production sufficiency
fa=fiera Iae (d) 9T RN Labour-

Decentralized production intensive technology

fFafifEa & @ @9 1, T50 WER & aAfieR &
T 72

Which among the following comes under the jurisdiction of
state governments?

S{TIIDHY Income tax
?ffﬁ[ 3T TR T Tax on

agriculture income

fFrafafed & & $19-91 IR IE=a: Pte! Jarn
UTH & Ao I it g2

(b) PR B Corporate tax
(d) THT e Custom duty
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Which of the following animals is commonly associated
with the African savannah grassland?

?:Fﬁ'qﬂ-ﬂﬁPolar bear (b) HITRS Kangaroo
3HIDT BT African (d) UISTPanda
elephant

guf yferifirar & siafa, v & forg wiT aw gian @:

Under perfect competition, the demand curve for the firm

is:
TR/ st SR (b) STt @Tet 3R ArGR
ARSI horizontal and downward sloping and
inelastic inelastic

TR/ &fast 3R (d) 3remTH g 3R Thd
CI;U&R?IT a d&IX horizontal downward sloping and
and perfectly elastic unitary

HTS f5d =1 3t Gitean Toiddt 32

Mossad is the intelligence agency of

OIS Israel (b) Y Russia

Y France (d) e Sweden

fFafafla & @ $19-91 Ao uLlas-T9 YR TR
PRIHH TISTHT BT Ied el 82

Which one of the following is NOT a component of ULLAS-
Nav Bharat Saaksharta Karyakram scheme?

Ty TIeRdT 3R (b) HE@yuf Sfia HIRTa
HJHATAHD T Foundational Critical Life Skills
Literacy and Numeracy

mﬁf&ﬂ Basic (d) dTeT 4H Child Labour
Education

o1 fiht wis Fafoafaa o 9 fad grr forar mar ur?

The Da Vinci Code was written by whom among the
following authors?

g 9 steve Berry (b) S 513 Dan Brown

S 3-I'I?jTJeffrey Archer  (d) s YA Sidney
Sheldon

BISRNY T &1 uex= & gt ager grT

g wrar

Hojagiri dance is performed by Reang community of

3HHH Assam (b) -1 ds Nagaland

fISIRY Mizoram (d) 392 Tripura

HIIUTT T GRT WRA & PG a1 & oI #1 e
SIYT™T T™T 41?

When was the design of the National Flag of India adopted
by the Constituent Assembly?

SFERT 1950 January 1950 (b) \_{Kﬂ—sc 1947 July 1947

faaR 1947 December (d) STaRT 1949 January 1949
1947

fre Sduor &1 f wTR?

What does mean by the writ 'Certiorari'?

A% To forbid (b) IO BT To be

certified
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30.

B ARSI § We d) T mReR F By what
command authority

Gagw Ty & gy &) sifteaw Sya e
T 8?

What is the maximum possible strength of Supreme Court
judges?

27 (b) 19
33 (d) 31

YRAT R e F Fu A d __ e 9ew
IR IR-efreie ge e 2

Reserve Bank of India's central board consists of ___ official
members and ___ non-official members.

10,5 (b) 5,10

6,6 (d) 10,10

IRT PiST AT HaTeT BisT, W fRyd ts uda
Rz @1

Arma Konda or Sitamma Konda, is a mountain peak on the

SRTAd Aravalli (b) i3 °TC Western Ghats

Taf °TC Eastern Ghats (d) TAYST UIqHTAT Satpura
ranges

SrfuawT & P & U A fHA =1 AT 82

Who is known as the father of Economy?

ARIYTR Max Muller (b) TSHTHY Adam Smith
S I John Keynes (d) It AR Karl Marx

¥ Iufug TP AP IXpd Yaure ©, 98 frd ag &1
qa3ufug @ ?

The Kena Upanishad is a Vedic Sanskrit text that is the
Principal Upanishad of which Veda?

71 d< Rig Veda (b) M dE Sama Veda
aﬂaEaE'Yajur Veda (d) 3{Yd 9 Atharva Veda

oY AR TRRIT &7 2023 H7T Ao far o

The Men's Junior Asia Cup 2023 was held at:

3 Oman (b) TgH 3RS HRIT United
Arab Amirates
DX Qatar (d) T34l 3R Saudi Arabia

YR PR & IR, A5 2023 H faS=h wewes
forawr (roi1) 3fpdY 3idate 34% TeBR kel

According to Government of India, the foreign direct
investment (FDI) equity inflows decline 34% to

in April-June 2023.
USD 10.94 fafera / Billion  (b) USD 17.23 fafera= / Billion
uUsD 21.20 fafer@=/ Billion  (d)  USD 25.50 fafera= / Billion

TET WA A 51 & # 1T Icaoi- # FHeledt H 3R
TP S YA PIE ST gad HA &

e i ¥ TUTHTw 94E ¥ 91 TP 9Asi W

TER U e

Tata Steel has recently signed an agreement with

Germany's SMS group to cut carbon emission and achieve

net zero carbon emission by

Mob. - 01141676717,9312712114
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2030
2040

(b) 2035
(d) 2045

T & gea § Fex=ma FET T BSIRHA SR
fay $ud YRa A fa ug® ofta?

How many medals did India won at the International
Shooting Sport Federation Junior World Cup in Suhl,
Germany?

12 (b) 8

15 (d) 10
Frafafea & @ o1 3 awr &1 sifaw e ur:

Who amongst the following was the last ruler of the Shunga

Dynasty:
SATOIEET Agnimitra (b) SEfadl Brihadritha
(d) é?ﬂﬂ?—f Devbhuti

EEI'&H Pushyamitra

TER g A B YR AR GRITY ___ H 3p1a
___ Ul & T 4047 TS T F URNIG F TIY T
e T

Deep Ocean Mission was launched by the GOI in the year
____with a outlay of Rs 4047 Crores for the next __years.

2022, 6 EI'Gf/ years (b) 2021,6 a’ﬁf/ years
2020, 339 / years (d) 2021,5dY/ years

ST 2023 # SR WPIT WifTS! Siiwsl F IANR,

2023-2024 B A9 fauTd ¥ URA &1 9P WG,

3IdTG (SIS 7.8% weT, 39 3afy & QR HfY &3 A
CIETE iR ]

According to National Statistical Data released in August

2023, India's gross domestic product (GDP) grew 7.8% in the

April- June quarter of 2023-2024 , the agriculture sector

recorded a growth during the period.
26% (b) 3.0%
3.5% (d) 2.8%

fFrafafaa 3 Q fPaet g & srRu dd ad e

Deficiency in which of the following causes night blindness?

YT Thiamine (b) I Retinol

R Niacin (d) P Choline

e FU A HHeId Sic TaRa o ardl feee sfiedt
L

Who has won the bid for financially challenged Jet Airways?
T BIERIS BT (b) STTHSMR T GMR Group
Jalan Kalrock Consortium

JSHITRUC RIf@™  (d) cTervoiecy fafies

fAftIes Adani Airport

Holdings Limited

v 2023 & g g & T A (ceo) W wi®
Bz 3t aifife Ruid # fFufafea § 9 o< gavr
I feanmar g2

Who among the following has been ranked second on
Brand Finance's annual report on the world's top CEOs for
the year 2023?

g} ﬁ?ﬂ_&; Sundar Pichai

TATA Projects Limited

(b) gﬁﬂw Punit Renjen
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a1 739 Satya Nadella (d) W&I_@l'l:ﬁ Mukesh

Ambani

fFafafea & 4 59 o 3 URd Fafes M@
SO AT B AR REPR I AT HIA B
Hyor $1 82

Which of the following countries has announced to honour
Indian carnatic vocalist Aruna Sairam with Chevalier award?

T France (b) S Germany
fSc¢ Britain (d) g Spain

YR 99T 3 'WSae 174" & d8d YT Ad-adq
%@ﬂﬂ'n%?ﬁrﬁ'ai’aﬁ»—mma Joft &1 T Ui
|

The Indian Navy launched its latest warship 'Mahendragiri'
under the 'Project 17A'. It is a type of

SRR Destroyer (b) AT Frigate
HIIC Corvette (d) PO Cruiser

a3 frd uRd dfau 3t s FeTaT e ?
Which of the following is regarded as 'The Soul of Indian
Constitution'?

fYe /1S The Writs (b) T ITAR BT
HfIBR Right to
Constitutional Remedy

AU [Aeg SRBFR (d) TWaAd1 o7 3AfABR Right

Right against Exploitation.

fFrafafad & @ Fi9-91 Is9 4R A ol Ty aod
SATEH I 72

Which of the following is the leading Marine fish producing
states in India ?

Wﬂm Andhra Pradesh
BT Kerala

to Liberty

(b) TSRId Gujarat
(d) Ui ST West Bengal

HRATY WU &1 3g=dq _ 'SRyTgdr &1 qHIw

%ﬂm%aﬁ?mﬁmm%a{mﬁwm
|

Article __ of Indian Constitution abolishes ‘untouchability’

and forbids its practice in any form.

21 (b) 19

17 (d) 14

TREAE S grIfd g 3

Price of Dream is writtenby ______

TSt 3{fad George Orwell (b) W%ﬁgm George

David Roberts

(d) faferow eaftaR william

Shakespeare

sy e, Th wiehard A, st TH9e gane o
e 3, Fafafa A A fra A ge #2

Gopalbandhu Chaudhri, a Gandhian leader who was
involved in Salt Satyagraha, is associated with which of the

following state?
(b) TS8R Bihar

P Kerala
3SR Odisha (d) Ui STE West Bengal

3fas SR pavid

Bornstein
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SIRTERT TSl HETHY (FIDE) BT RITYAT BT TR B
P I A DT A 1996 H SIRTPHI Tt feaw ot
RITYT B | T8 Ui 9 S T/ S 82

UNESCO established the International Chess Day in 1996
with the aim to honour the founding of the International
Chess Federation (FIDE). It is celebrated every year on:

20 T 20thiuly (b) 20 3T 20th August
25 T3 25th May (d) 25 30 25th April

S & far d smaifora ead ai
NS (1M0) 2023 & HRA Bt ¥ T Ai?
What was the Rank of India at the 64th International
Mathematical Olympiad (IMO) 2023 held in Chiba, Japan?

iGic

5l 5th (b) 779 7th
8 dl sth (d) 9dioth
N SHISY HBSWWH & o & *U # Fy

YR &Y ﬂqTTFqT%? Which Indian has been elected as a
member of the International Esports Federation?

aﬁﬂ&‘:ﬁ Lokesh Suji (b) HUA <d Kapil Dev
NP 45T Abhishek  (d) 31T¥a fd&T Abhinav
Sinha Bindra

BT 81§ f5E ST FdaH $AI9YH FTS 9SS aie

i fear %? Who has recently launched its latest
innovation Card Sound Box?

T’Iﬁa Google Pay (b) Paytm
B U on the phone (d) aﬁ'sfqgfnone

YRA & Ugd Al-HaTierd Tel-giF Rivew &Y o = fean
T %? What is the name given to India's first Al-powered
anti-drone system?

UM Prakhar

W Indrajal
v fayfaemeg & oo+t avE & Usd AreR® ed
BT 3gdlcHd foa= fHa1? Who inaugurated the first of its

kind community radio in Jammu University?

3T T8 Amit Shah (b) SFRIT 3T Anurag

Thakur
W S Smriti Irani (d) TS R8T Manoj Sinha

(b) TP Chetak
(d) YT Gaganyaan

[ Reasoning ]

Tfe 15 RIawaR 2008 ®Y IFHAR AT, 41 15 Ryawar 2009 #
P -arfeTur?

If itwas Friday on September 15, 2008, what was the day on
September 15, 2009?

HAR Friday (b) AR saturday
WﬁﬁlﬁThursday (d) MGER sunday

TS fAfa geurar &, rRAT = 39 3R MAT = 34 B. LIFE &I
5 YR Feas far smarm?

Mob. - 01141676717,9312712114

(@)
(©)

53.

(@)
(©)

54.

(@)
(©

55.

(@)
(©

56.

(@)
(©)

57.

(@)
(©)

58.

In a certain code, there is RAT = 39 and MAT = 34. How will
LIFE be coded?

29 () 27
32 ) 35
T e ‘UNITED’ B 'SLGRCB’ P =T ¥ forar SIrar @ ot

‘DISOWN’ XTeg 1 $ IS forar s Tnfgee
If a word 'UNITED' is written as 'SLGRCB' then how should
the word 'DISOWN' be coded?

BQMGLU (b) BQGMLU

BGQMLU (d) BGQMUL

= R M ud® uy A g § | IR &R UG quiHTarn
& HU H el AT & R W st vk & T S
? 3R 39 UPR A A 3UAT TP THE &7 fAHior #3d B
AT 5 370 | B - W1 TP S1&R I9g W18, 5 3
TRIAATR?

In each of the questions given below, four of the five
letters are in alphabetical order in some way depending on
their position and thus they create their own group. Tell me
which of these is a letter group, which is different from the
other four?
XW (b) PO
TS (d) FG

Fauy o foum Ten gl Y - -

Select the odd number pairs in the following question -

95 - 82 (b) 69-56

55-42 (d) 48-34

T Aiforg

i) A, BBTHTS B

i), AT fUaT® |

iii) D, E BT HTS g1

iv) E, BB A B

A pFHTAM BIAE ?

Let's say

i) A is Brother of B

i) C is Father of A.

iii) D is Brother of E

iv) E is Daughter of B.

So who is uncle of D?
A (b) B

C (d) E

Tfe a 31 3 g ST, b BT Y § T, c b1 3 @
U HIAT * 3R d BT 4 § T FHRAw A g
FHIHUT BT A T ?

If a means 'addition', b means 'subtraction’, ¢ means 'to
multiplication' and 'd' means 'division', what will be the
value of given equation?

18cl4a6bil6d4=?

63 (b) 254

288 (d) 1208

3t TS B mar § TP U YT 3R &t TS

HEkukrenkakickdiciy
A given number is given in the series is an inappropriate or
inconsistent series. Find that number.
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3,7,15, 31, 63, 126, 255

(@ 7 (b) 15

(c) 31 (d) 126

59. frufead uyame e (7) F RIF W) S9-30 9=
3|

(@ 77

(©

60.

(@ ¢

©

61.

What number will come in place of the following question
mark (?)?

6 | 42
g7 67

97 ?
96 | 92

(b) 83
70 @ 6

Tfe 3idtt quinTen & wuw srsfr &) faudia wa & foran
A, 3P SR 3R | 109 &R & IRT 3R 7a1 &R
PH-ATEN?

If the first half of the English alphabets are written in
reverse order, So which will be the 7th letter to the left of
the 10th letter from your right end of the alphabetical
series

(b) E

D (d) J

gfe fpdt Hibfaw HTaT A 'RAMESH' BT '1znvHS' foraT
ST 8, oY ANIL ) 4 ferar sem 2

If 'RAMESH' is written as 'IZNVHS' in a sign language, how
will 'ANIL' be written?

@) ZMRO (b) YMRO
(c) ZMOR (d) WEYT
62. M9 WY R B AR AR 31 IS 91 MU G 8

3R fh7 31l g B, fbe o1 g 81 98 warsd i o
3y frafemAwR g ?

You are going straight toward the east. After that you turn
right and then turn right, then turn left. Tell me, In which
direction are you going now?

(@) TR East (b) Ui west
(c) ¥R North (d) &l south
63. 1d=: - fad v vd® vy # & faedta S ot g |

@
(©

64.

(@ TﬁaRSunday
(c) dYUYdR Wednesday

Instructions: Choose the different number from the options
given below.

527 (b) 639
246 (d) 356
30 AP TP AR A U IRaR B I Ae FTUYH e B 1A

-|IgRM 2

There are five Saturday in a month of 30 days. What will be
the first day of the month?

(b) THAR Monday
(d) XIhdR Friday

65.
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69.

MRRE g g () Fag iR d I Ry
T STUT ® U UeR | BIs "6y 7,319 I YBR
BT q9Y g (: )& 18 IR T T g 371 qU71 I9P
MRTwReaidd PR r s FAadfi 2
T8 Py U MU SR BT SWR ey 3t
HTTH BIfTT

Pd: Hel: W ?

Two words are given on the left side of the question mark (:
:) below, in which there is a relation between each other,
the same type of relation (::) and the options given below
One of the words is also in the middle, the same option is
your word. Know the correct answer option.

Flower: Bud:: Plant:?

SIoT Seed (b) ¥dIQ Taste
el Flower (d) EE:ﬁ Branch
AN TTII IR A IPRITE IR R gw

TR A A YT UH g Faior #a ¢ I9arse $ g3
AP -ATEH e, MIMIRAARTR 2

Four of the five given below are similar in some way and in
this way they create their own group. Tell me, which one of
them is different, which is different from the other four?

77 (b) 81
49 (d) 63
oy d oo U Ru M ? 9t & srouafRya w0

|
2139 U &) HaRRYT Hd g 38 7T el 7 @
39 faweu &1 99 PR, i g B -
i) ST
i) Rl
i) dTRT
iv)J&IP
v)
In the following question, a few words are given, which is
in unsystamatic order. Choose from the options given by
arranging their sequence, which is logical -
i) Chapter
ii) Word
iii) Sentence
iv) Book
v) Article

3,2,1,4,5
2,4,3,1,5

(b) 2,3,51,4
(d) 2,3,1,54

BIERT® | U Al &1 §Rd #ed §¢ TP T3V Hedl
? -'39P! Urar Y wrar A far $ urar 31 gov fay
THR Ble e | fearg afgar & wafta g 2

Pointing to a woman in the photograph, a man says - "Her
mother's mother is my father's mother." How is the man
related to the woman shown in the photograph?

Ml Uncle (b) UIdT Grandson
r1-|?ﬂ\_r|TNephew (d) IIﬁTW-I'I_&F Maternal cousin
TS ] BT URTT HRId T dig A HgT, "sHP! d1al

T} AT Y gh it 9T B 10 WeH BT I FIferdT A |
fRard»

Introducing a girl, Mohan said, "Her mother is the only
daughter of my mother in law." What is the relation of
Mohan with that girl?
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@
(©

70.

@
(©

71.

@)
©

72.

@
(©

73.

@

(©

74.

@
(©

75.

rl-I'Ig Brother (b) fOdT Father

Ufd Husband (d) =T Uncle

ot qufaTen & a1¢ | 129 S&R & Y 3R saf 3iaR
PI-ATER?

Which is the 8th letter to the right of the 12th letter from
left in the english alphabet?

T (b) W
s @ E
& T e ST # U Aquged SudT rETd &t TS

B 39 WBN B 91 Fifrw|
A number given is given inappropriate or incompatible in
the series. Find that number

104, 105, 108, 113, 119, 129, 140

108 (b) 113

119 (d) 129

frafeafad yyame i (7) F /M W) S19-30 9=0
3maf|

What number will come in place of the following question
mark (?)?

S| 3

138 75
45 | 17

248 (b) 396
422 (d) 486.5

R for 7T 37 el A | HI-AT A7 v g, ART
U4 SETIUE & o1 P ey o) 9l Frefasware 2
Which of the following Venn Diagrams, shows the best
relation between Sun, Star, and Universe?

@D .©
NOX

A SR8 UTS B1'E TR P 3 p Ut ] 5 e BTA
ARTHEIYR ?

'A' and 'B' are brothers. 'E' daughter is 'F'. 'F' is wife of 'B'.
What does 'E' relate to A?

dg Sister (b) g?ﬁ Daughter
UcfSit Niece (d) Tl Sister-in-law

= : fFra 9oft & 75 ug gw 71 S W | gw gl &t
IR el & Fu o fgar mar 31 3Ra fawew g
Instructions: Some places are missing in the following
series. In the same sequence, the missing places are given
as four options. Select the appropriate option.
ab_dd_ba_bcd_cba

(@)
(©

76.

(@)
(©)

77.

(@)
(©)

78.

(@)
(©

79.

(@)
(©)

80.

(@)
(©)

81.

adbc (b) cchd

ccad (d) ccda

[ Numerical Ability ]

g A &1 991 & g arffe wu & H4ifsra g arelt

6.25% Ufd a9 B G W . 24576 B Y AR IUR ft, a@F
& qul F ofd F Iga FRT YA a1 94 aren Fa
e fpa 82

Atul borrowed a sum of Rs. 24576 at 6.25% per annum
compounded annually for two years, then what is the total
interest paid by Atul at the end of two years?

T. 3444 Rs. 3444 (b) .3408 Rs. 3408
T.3234Rs. 3234 (d) T.3168Rs. 3168

1R fau U i § 'k BT A FId BIfre|

Find the value of 'k' in the expression given below.

11 of 7.5 + [12.5 + 3.5 x 7 - {16 - 111 + (17 + 20)}] + 0.125 =
2k

3.75 (b) 2.5

3.5 (d) 2.75

TP 911 BT URATY, T 3Md & URHATT S SRIeR @ 3T
3T P FISTE 12 cm g1 I BT &TBA 400 sq. cm &l
3TId T AAHd JTd BIfeTg|

The perimeter of a square is equal to the perimeter of a
rectangle, and the latter has a width of 12 cm. The area of
the square is 400 sq. cm. Find the area of the rectangle.

(b) 394 sg.cm
(d) 336sg.cm

412 sg. cm
324 sq.cm

HIYRUT TS B 8% Ufd a4 B T & Tob Y=RIR 4 99
9IS T. 29865 Bl ST @ | HTYRUI TS fha-T &2

A sum at simple interest at 8% per annum amounts to
Rs.29865 after 4 years. What is the simple interest?

%.7640 Rs.7640 (b) ¥.7240Rs.7240
%.6820 Rs.6820 (d) %.8020 Rs.8020

Rra=s te fAifda 4RI A 8 fter ifvaa da @dear
?1 79 37 91 a8 3 diex AIfvad a9 10% @Y W, 3
dex AiTa aa 7 ot ary R 9 & g1 W 3R 2 dfiex
AITS A4 5% BT WR IaT g1 WYUf A4-39 F @y
wfarra fra 82

Jitendra bought 8 litres of coconut oil for certain sum of
money. After few days, he sold 3 litres of coconut oil at 10%
profit, 3 litres of coconut oil with neither profit nor loss and
2 litres of coconut oil at 5% loss. In whole transaction, what
is the profit percentage?

3.6%
2.5%

(b) 1.8
d) 5.4%

A, B 3R ¢ &1 31 d a9 52 kg &1 TS B 3R ¢ BT 3
TV 44 kg B TUT € 3T A BT 3T a9 46 kg &, Y ¢ BT
v fra @2
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@
(©

82.

@
(©

83.

@
©

84.

@
(©

85.

(&)

The average weight of A, B, and C is 52 kg. If the average
weight of B and C is 44 kg and that of C and A is 46 kg, then
what will be the weight of C?

24 kg (b) 38kg
36 kg (d) 68kg

s, TH 20% AfYP 81 T, U ¥ 10% BH Bl s TUT U BT
3uTd fa- 82

S is 20% more than T. T is 10% less than U. What is the ratio
of Sto U?

27:25 (b) 23:19
25:21 (d) 29:24
ATH PR Bl b 30 A A T HR THaT 218, A A

25% PH PR & JdiP ¢, B A 33% % NP AT A, B
3R ¢ TP ATy FI HRad g fora fol & wrd R v
A can do a piece of work alone in 30 days. B is 25% less
efficient than A, while C is 33% % more efficient than B. In
how many days can A, B and C working together complete
the work?

150/11 f&71 150/11 days
140/11 &7 140/11 days

T 3A658, 11 A FAHTT &, A B - A BT A fHa1 82

If 3A65B is divisible by 11, then what is the value of B - A?

(b) 120/11 89 120/11 days
(d) 130/11 &9 130/11 days

7 (b) 4
5 @ 1
TS areR YA & orrat wuft yemai &1 ahT 66 cm

21 afe Yy &1 & a 270 cm? 8, A SMTAATHR YA B
|aTg 3R AISTs & o PT 3ia JId BIOE|

A field is in the shape of a rectangle and the sum of its all
sides is 66 cm. If the area of the field is 270 cmz, then find
the difference between length and breadth of the
rectangular field.

Let the length and breadth are 'l' meter and 'b' meter.
Perimeter of the field = 66 cm

2(l+b)=66

1(33-1)=270

I>-331+270=0

(I-18)(I-15)=0

L=18, 15

So,I=18cmand b=15cm

Required difference =18 - 15=3 cm

HHET GETE 3R AeTg 1 Hiew 3R b Hiex g1
A P URHATY = 66 A

2(L+B)=66

L+B =33 - (1)

A BT ATH = 270 AH?

L(33-1) =270

L2-33L+270=0
(L-18)(L-15)=0

L=18,15

@, 1= 18 TH 3R b = 15 T
3ITIYYP 3R = 18 - 15 = 3 JHI

3cm (b) 2cm

(©)

86.

(@)
(©

87.

(@)
(©

88.

(@)
(©)

89.

(@)
(©)

90.

(@)
(©)

91.

(@)
(©)

5cm (d) 7cm

TS Afed - AIRIS 3T BT 40% HUTT W HaT B
fad 3t WIRIS A | 15% Pt gfx g1 AT 7 3R ITqP
g # 22% ® HU T 21 IS FUd | WA
wfa=ra i frasit 82

A person spends 40% of his monthly income. The monthly
income of the person is increased by 15% and his
expenditure is decreased by 22%. What is the approximate
percentage increase in his savings?

40% (b) 44%

32% (d) 36%

T gHER TP a3g PI 8% g U auaT 31 afe 9%
fawa gea A 36 B gfS Fwar B, @t I/ 12% T ATY
TG SYT 8 | I BT 359 T (< H) 1 P |

A shopkeeper sells an item at a loss of 8%. However, if he
increases the selling price by 36, he could gain 12%. Find
the cost price of the article (in ).

180 (b) 270

150 (d) 360

TP At & geu | 15% P gfg gt g1 afe qBT
gfvuma et & gea # x27 Ft 3fS B, @ <Y &1 gfSa
e frar g2

The price of a cap is increased by 15%. If this results in a X27
increase in the price of the cap, then what is the increased
price of the cap?
X170

X207

TS Hiex aTell 19 5.25 km B g3t TG B FHdl 3 R
Fd 1.2 9 ¥ e fig W argw o ot 81 a8 RR
I H 1.8 km Bt g3 12 firTe § 99 % ol 81 98 URT
F ATHA 25.2 km Pt g3t Bl a9 B W a1 TG
SR

A motorboat can row a distance of 5.25 km and return back
to starting point in a total of 1.2 hours and the motorboat
can cover 1.8 km in still water in 12 minutes. How much
time the motorboat takes to cover 25.2 km in downstream?

1.2 1.2 hours (b) 3.6 ©¢ 3.6 hours
4.8 ¢ 4.8 hours (d) 2.4 ©c 2.4 hours

(b) %197
(d) 180

e (b-c)2=230 3N a(a +2b-2c)=220%, @ (a+b -c) BT
T frar @2

If (b - c)Z =230 and a(a + 2b - 2c) = 220, then the value of (a +
b-c)is-

15v2 (b) 16

20 (d) 9vs

[ Computer Awareness }

oo & @ Fa1 epaR g A ghar?

Which of the following does not exist in taskbar?

®I® @I Quick Launch (b) E'Iéﬁ:LStart Menu
qﬁ'w My (d) Q%ﬂ SR Address bar

Documents
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92.

@

(©

93.

@)
©

94.

@
(©

95.

@

©

96.

@
(©

97.

@

(©

98.

@

Tg-SUANTHdl RiRey DI Jaa™ & iy arE sad
u'chr FRASHPIPS Pl Sile & RKiL o
TH YHHIUT SPTS T STANT 6 &

Multi-user systems provide cost savings for small business
as they use a single processing unit to link several

WW Personal (b) BT Workstations
computers

9 ¢fHd bumb (d) T Mainframe
terminals

frafefaa & & S A1 vgan aa= yatsH saagie
IR §?

Which among the following is the first general purpose
electronic computer?

EDVAC (b) ADVAC

Mac (d) UNIVAC

A AP &1 yar FAufafed & 9§ f5ud grr
UEAHI STd1 272

The address of a memory location is identified by which
among the following?

Q@ﬂWAddress Bus (b) TR §9 Location Bus
TS SeTT T Identity Bus  (d) TfCRIA & Attrition Bus
Fafifea d A eH-aT STRu P te RRT AN ST F

IR | AFSRI SIS BT 82
Which of the following is a part of database that store
information about the data?

a1 feuiforedt pata (b) ST ARG Data
depository warehouse

3T fSaRMRY Data (d) UM% e Yot
dictionary Administrative data system

frrafafad # 9 ®19 91/ pos & BIgd TaHe T 2/8?

Which of the following is/are file extension(s) in DOS?

EXE (b) BAT
coM (d) TR All of these
BT FT 72

What is backup?

ISP cdh B 3R 3MfF (b)) PR ST H AT Y
U] Y Pide BT 3 TIdA R Heod &
Connect his network to %’QWWI Copy to
more component save a data from original

source to other destination
(d) <U Y 3T TR AT

Access data from tape

R ST Bl AT ST H
fireex ®RATI Filter on old

data from new data

P9 I AN UHE RS & U § Hig 11 & 91au[g
arfﬁigm 3 AP W | W Y ST §RT gHida
gl\"" ?

Which memory appears to exist as main storage although
most of it is supported by data held in secondary storage?

PR AHARY Core memory (b) E@Wﬁﬁthual

memory

(c) YHRAM (d) STEHHE TART Dynamic
memory

99. ST FISW HYd YUY YUl wh I €4 & foe Fafafaa
H & f5a Foft o1 Iy far S 82

(@ F3

(©)

100.

(a) TSCTFATR Detectware
(c) TTZATR Spyware

While browsing the internet, which of the following key is
used for full screen view?

(b) F5
F11 (d) F9

fFafafaa & Q $19-97 9 duR T U I Tud iR
STUDH} Se3AC SATGal & TR | BRI THT HIal 82
Which of the following type of software secretly collects
information about you and your internet habits?

(b) paves| Spam
(d) ?Cﬂ%‘i"TSpooling
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